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Q1

Q2

(a) Answer Q1(a)(i) — Q1(a)(iii) base on Figure Q1(a).

#include <stdio.hs

void print (int);
void newLine() ;

int main()
{
int a, b, ©;
a=2; b=0; c=3;
print(a) ;print (b) ;print (c) ;newline () ;
}
void primt (int n) {
printf("%d4d" ,n) ;
}

void newLine () {
primedr ( "\a™)::
}
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Figure Q1(a)

(1) What are the program outputs?
(2 mark)

(i1) If Iine 10 in the program is being modified to print (b) ;
newlLine () ; print (a); print (c); what will be the
output ? ' '
(2 mark)

(iii)  Modify line 10 in the program to obtain the following output
as follow:

2022
2023
(6 marks)

(b) Write a program for function min that receives two integer values as parameters and
returns the minimum number between the two values.

(10 marks)

Write a complete program by using array to read expenses in a year. Your program able to
prompt user to enter the expenses for each month. Then, by using for loop, calculate and
display the total expenses each quarter of the year. Output should be display as in F igure

Q2.
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Figure Q2

(20 marks)

Q3  According to structure in Figure Q3(a), write a complete program to calculate and display
the area and volume of THREE (3) cylinder. Your program able to prompt user to_enter the
value of radius and height. Output should be display as in Figure Q3(b).

(area=2*n*radius*height+2*n*radius®, volume=n*radius® height, n=3.14).

struct coord{
float height;
float radius;

}i

Figure Q3(a)
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Figure Q3(b)

(20 marks)

Q4 Based on Figure Q4(a), you are required to develop a complete C program as output in
Figure Q4(b).

Case Study:

Prog C Sdn Bhd currently is planning to deploy a system that enable |
user to online pay for insurance company from multiple Motor and
Life Insurance Company. The list of identified company that agreed
to join this venture are listed in the Table Q4. By using this
system, user will entitled for a discount. However, the discount
are varies based on the company name. List of discount also can be
seen from Table 1. You are free to include any decision, looping,

calculation, input and cutput as long as it meets the required
reguirements mentioned above.

Figure Q4(a)
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Table Q4: List of insurance company and discounts

Insurance type Company | Discount (%) |
1. Motor 1.Kurnia 3 |
2.Tokio 2 |
2. Life 1.Prudential E 7
2.Etiga | 5
| 3.AIA 3 |

Figure Q4(b)

(20 marks)

-END OF QUESTIONS -
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